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61- For many young people, this is the most difficult problem that they … to deal with in their lives.    
1) never had   2) ever had   3) have ever had  4) have never had   

62- I have written the letter, but I … it … . 
1) haven’t posted / still  2) have posted / yet 
3) haven’t posted / yet  4) haven’t posted / ever

63- A: What do you do for living? 
B: “I am workless. Actually, I … last year.” 
1) don’t work from  2) haven’t work from 
3) haven’t worked since  4) don’t worked after

64- Which word does NOT have a prefix? 
1) disagree  2) impossible 
3) reality  4) midterm

65- A: “Have you ever met George?”  
 B: “Yes, but I’ve … his wife.” 
1) so far met  2) ever met 
3) never met  4) met 

66- In modern society, some people’s main … in life is to earn as much money as possible.  
1) stage  2) mission  3) condition   4) invitation  

67- The doctor believes that my brother, Tom, is suffering from a nervous … . 
1) creation  2) reason  3) addiction  4) disorder  

68- On the phone: - “Would you like to leave a message?” – “No, I’ll … later.” 
1) wake up 2) get up 3) call back  4) give up 

69- The little girl was highly scared in the accident, so I tried to … to somewhere safe. 
1) get her away 2) look after her 3) turn her around  4) wake her up 

70- Smoking is the major cause of lung … and I remember one day a … told me that tossing cigarettes may 
cause huge fires. 
1) disease - police  2) health - doctor 
3) cancer - firefighter  4) fire - police
PART B: Cloze Test 
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice 
on your answer sheet. 

Today most of the diseases are under control because of new …(71)… and medical inventions. 
Nowadays, many of the factors that …(72)… our health are lifestyle choices. Lifestyle diseases such as heart 
disease and cancer are serious health problems in our …(73)… . Unhealthy actions and some other things 
cause them. There are some risk factors related to any health problem. What are the risk factors? Risk 
factors are things that …(74)… your chances of injury, disease, or any other health problem. There are 
different kinds of risk factors. Some are controllable, while others are not. The difference …(75)… the two is 
clear. 
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PART A: Grammar and Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the answer on your answer sheet. 

A Healthy Lifestyle
(Vocabulary 

Development, …, 
Pronunciation)  
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71- 1) medicines  2) secrets    3) exercises  4) messages 

72- 1) look  2) practice  3) enjoy  4) influence 

73- 1) technology  2) communication  3) society  4) series 

74- 1) increase  2) finish  3) measure  4) forget 

75- 1) in  2) between  3) from  4) with 

PART C: Reading Comprehension 
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice 

on your answer sheet. 

Helen Adams Keller was born in Tuscumbia. When she had not spent more than 18 months of her life, she 

became both deaf and blind so that she lost her connection with the outside world. When she was six, she was 

shown to Alexander Graham Bell. Graham Bell sent a 20 year old teacher called “Anne Sullivan” who was 

working in an institute for educating the blind people, after the examination, to teach Helen. 

Sullivan communicated with her by pushing some signs with her fingers on the Helen’s palm and used this 

method to teach her words. After some months Helen learnt to say the name of anything that she touched and 

soon by the cards including bold sentences, she was able to say a sentence. Then she went to an institute for 

learning how to speak so that after a while she was able to make her own sentences. Moreover Helen learnt 

how to lip-read by touching the mouth and the throat of the speaker. 

When Helen was a little kid, entering university was her dream and at the end she succeeded in 1900. She got 

accepted in Radcliffe college and graduated four years later. During her studying  in college, her loyal teacher 

which means the teacher that was always helping her and never left her alone, wrote every speeches in each 

class on Helen’s palm to let her understand her lessons. She was the first deaf and blind person that graduated 

from the university. These days lots of our deaf and blind students put Helen a model for themselves because 

she never gave up in spite of her weaknesses and at last she got what she wanted with effort and not quitting 

easily. 

76- Which of the following statements is true about Helen keller? 

1) She couldn’t speak till the end of her life.                    

2) Without having the help of her teacher, she couldn’t graduate from the university. 

3) She was born both deaf and blind.    

4) After entering the university, she had become independent in a way that she didn’t get any help from others.

77- What does the underlined word  “deaf”  in paragraph1 mean? 

1) not able to see 2) not able to touch 3) not able to speak 4) not able to hear 

78- According to the passage, lots of our deaf and blind students put Helen a model for themselves because … . 

1) she was an educated person  2) she was so positive about life 

3) she was deaf and blind like them 4) she was so hard working and she never gave up 

79- Which of the following words is defined in the last paragraph? 

1) loyal        2) speech 3) university 4) graduate 

80- It can be understood from the passage that … 

1) finding a loyal friend can help you to improve. 

2) your behavior with your teachers, influences their behavior with you 

3) there are no solutions for deaf and blind people to learn speaking 

4) if you don’t quit easily you can get anything that you want
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  عادي )2( فيزيك     
  

  
 به كدام سمت است؟ Aميدان مغناطيسي در نقطة بردار دهد. جهت  اي از ميدان مغناطيسي زمين را نشان مي شكل زير، طرح ساده  - 151

1(  

2(  

3(  

4 (   
  

  

جاذبة ميان دو ميله زياد بوده و بـا حركـت بـه     1كشيم. در نقطة  مي Bروي ميلة  2تا نقطة  1از نقطة صورت عمود،  را به A، ميلة مقابلمطابق شكل   - 152
 يابد؛ در اين صورت الزاماً . . .   ، نيروي جاذبة ميان دو ميله كاهش مي2سمت نقطة 

     آهنربا نيست. Bو ميلة است آهنربا  Aيلة م )1
   آهنربا نيست. Aو ميلة است آهنربا  Bميلة  )2
  هر دو ميله آهنربا هستند. )3
  توان نظر داد.  نمي Aولي در مورد ميلة  ،آهنرباست Bميلة ) 4
(مقاومت لامپ ثابت فرض  شود؟ توان مصرفي آن چند وات مي وصل كنيم، V110به ولتاژ ن رااگر آنوشته شده است.  W100و V220دادروي لامپي اع - 153

 شود.)
1( 25  2( 50  3( 200  4 (400  
 چند آمپر است؟ R3مقاومت ازجريان عبوري  آمپر را نشان دهد، 5/0 عدد آل اگر آمپرسنج ايده شكل زير كه قسمتي از يك مدار است،در  - 154

1( 5/0 

2( 75/0 

3( 1 

4 (5/1  

Fهاي زير، جهت بردار نيروي مغناطيسي يك از شكل در كدام - 155


Bهاي ميدان مغناطيسي عمود بر خط vسرعتبا وارد بر الكتروني كه  


ست، در حال حركت ا 
 به درستي نشان داده شده است؟

1(B F
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 شروع هر درس در دفترچة سؤالگذاري قبل ازهدف
  خود را بنويسيد: 10گذاري چند از  ، هدف)2فيزيك (هاي درس  گويي به سؤال لطفاً قبل از شروع پاسخ
  توانيد پاسخ صحيح بدهيد؟ سؤال به چند سؤال مي 10از هر 

  بوده است؟ 10عملكرد شما در آزمون قبل چند از 
 شما براي آزمون امروز چيست؟گذاري  هدف

  براي آزمون امروز 10گذاري چند از  هدف  آزمون قبل 10از چند 
    

دقيقه 25

   الكتريكيجريان 
(توان در مدارهاي الكتريكي و تركيب 

  ها) مقاومت

و القاي الكترومغناطيسي  مغناطيس
  هاي مغناطيسي،  (مغناطيس و قطب

 دان مغناطيسي و نيروي وارد بر ذرةمي
  باردار متحرك در ميدان مغناطيسي)

  )73تا  53هاي  (صفحه
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R = 4 �2

R = 8 �3

R = 2 �1

جغراف�ا�� شچمال قطب

A

زم�ن �رة

2
1

A

B

         
 هاي ساده و متوسط را ياد بگيريددر كارنامة اشتباهات به اطلاعاتي كه در زير هر سؤال نوشته شده توجه كنيد و سطح دشواري را هم ببينيد همة سؤال
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